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PART A .
o 5 Ay
1. The Andhra Pradech Recrganisatios Bill|l. o ©B5 90 sIesce De cco%eS
2 e a Prades g d
by 3523580 4 D
was introduced in the Lok Sabha 3538 ?gpa 56 Ex)eﬁéa @53% 03&,,' QU
Sushil K hinde on
- S (1) 10 H 250, 2014 0
(1) 10" February, 2014

(2) 11*h February, 2014
(3) 12t February, 2014

(4)  13% February, 2014

Consider the following statements :

A.

Cornwallis came to India in 1786 as|

2) 11 @356, 2014

&

Governor-General.

B. The Permanent Land Re\)r%n

Settlement raised the ﬁgﬁ_@%@of ig;cm@

tenants to the rank of %ﬁﬁers.
{ 4 Oy

C. Zamindars were

& ol SHyH.

TES B Ao
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3.

" (1) Finance Commission ©

The present strength of Andhra Pradegh |3-

Legislative Assembly and Legislative
Council respectively is

(1) 119 and 40
(2) 126 and 78
(3) 175 and 58
(4) 140 and 75

Panchayati Raj system is not prevalent in
the Indian State of

(1) Meghalaya

(2) Madhya Pradesh
(3) Maharashtra

(4) Uttar Pradesh

A federal feature of the Indian k S |
Constitution is the i 1 SQlTT

N
(2) Integrated Judiciary r";am

e

 (3) Emergency Powers@%;! ident

(4) Division of Powe%Q

The Center-State%mission set up by| ;

gressive  Alliance|

the  United

2007 is

ia Commission

©

so0 @o% S8 DR o,

@@ £ 350€) ,‘68;.{)50 K“O&ng SN
;55:-3@2 ne f»%

rf:‘é 8
T o 40 &

(1)

)
(3
4)

A=
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7. The first item in the list of Fundamental T T8 Feoo @GS Ve rdTED
v in

Duties of Indian citizens is to B0xt5ed eoio #(I.‘-Viv
(1) Reapectthe National Flag only 1) edap Horse) ST FEA0;
(2)  Respect the National Anthem only @) er8an Aol S @D FEA0
(3) Respect the ideals of the (3) cvesnsoﬁo
Constitution only fifderdloln]ele)]
(4)  Respect the  ideals of th(el (4) oregon 8oy
Constitution, National Flag an a»éozsﬁw:) L
National Anthem

8. These rights enable men to have a
reasonable and legal source of livelihood.

(1)  Economic Right
(2)  Right to Liberty

(3) Right to Freedom of Religion
(4) Right to Education

i B
1
-J-

Ji ‘."*‘ )
f Q. 4
9. Match the following correctly : P,

e Pa® o Eooman SO 5 5
A. Magna Carta g 1789 | i
N iy

B. Bloodless Revolu' _'b""; i Sl el e A, Spo=

American D§ ation i, 1688




 WSEDP
10.  Consigey the following statements . . 1) 0. (308 gngsmﬁo éﬁ%@oﬁod : ©

A, Ecunomic elements are treateq S X esgg 0FS5VOS) WS%-‘»&»;%
Source of justice. s 50T SONEdts.

B. -Political justice symbolises pojig;. . B. resdoh TS0 eda %%
Inequality. o F‘S:)& m{)@ o -‘ ~asa

C. S:cial jllltstil{:efenﬁl)rces the Principle o 40 e e '*Ig;ja-;{:,a )

equality before law. 4 L

Identify the correct statements from e 5"3/33'3'-; % 2 %&%ﬁj:

above. 2 TPEE0O % "PR0%504,

(1) OnlyB

(2) Both A and B

(3) Both B and C

(4) Both A and C

11. The theory of this person applies to both \
public and private spheres. | %
(1) John Locke ' 4 |
- (2)
(2) John Rawls % "' R o
: s e r}- (3)
(3) DaVId Mll].er b 4 b i
Wl @
(4) David Ricard%;‘ :
0 12.
12. “Man’s was solita.ry,_./ poor, . nasty, |
 brutish

short.” This is stated by

________
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13.

14.

1 50 g

(1) Arun Singh y e
(2) Amar Singh *
(3) V.P.Singh 0

@ Charan

(@)

(8)

ibes 13-
Identify the correct names of thieiti

living in Maghya Pradesh, Himf“’hal
Pradesh, and. | FmpUR

respectively,
(1)
(2)
(3)

Manipur

Baigas, Gaddis, Chirus and Lushais
Bhutias, Garos, Khasis and Kotas
Abors, Chenchus and
Warlis
Khasis,

Shompens

Badagas,

and

(4) ‘Mundas

Mikirs,

The second longest national waterway in
India is
(1)
(2)
(3)

J awahaf Canal
Buckingham Canal
Sutlej Yamuna link canal
Sharda Canal

X"
Lucknow Airport is associa '-%e
name of this leader. —

bd

€l
TEETos® oy 98B, ErSe 385,
D8 b @DS  TFesDd
ABe5o00 et ES050 SEST

D Bred, #ES, D 00k ard@ire

@) goard, by, r%%ﬁam
Serd '

(3)
(4)

@) 55 T

egb. :)m@ o
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>y 6,00
17. The two barrageS constructed on 17. 50%@.’-‘6 5632 b & 5 BOC;) 33“538?.@ i)cso
Vamsadhara River are 1) 5@03’)@ SH0a3» %‘)oﬁjb &
(1) Veerampalli and Achampet @) LT 258050 J6&
e
(2)  Gotta and Neredi 3) Fe359 50003 FoLEY ey
(3) Thotapalli and Kondakarla Ava PR eleleney ﬁe@aéﬂ’c‘a
: 4) *
(4) Tatipudi and Pothireddypadu : :
18. &) et BS B G5y

18. One of the key interventions under
National Urban Health Mission, aimed at
promoting community participation in
health at all levels is

(1)
(2)
(3)
(4)

Arogyasri

Child Health and Immunisation
Mahila Arogya Samitis
Maternal Health Programme

19. Read the given statements A and B :
A.  End hunger, achieve food security
. and improve nutrition and promote
sustainable agriculture.
Ensuré inclusive and  quality

learning.
Which of the above is/are the objective/s of
the Tribal Welfare Department of the
T an nt of Andhra Pra&esh ?
Only A :
) Only B |
3) BothAandB £ e L

i
)

' % -:__'
‘. 74N

education for all to promote lifelong |

Grayrod ST TR oy
5 B0 SR S8 EBATe8 1

8753,

28 7§ ©of ampses
e BT SD®e |
:53@5015 b’é [Eoallsy

(1)
(2)
(3)
(4)

3550835 A, B BSITEOD IES0G

w5dd oS0  Dabwo, &5
S5 QOB HdA® s
Sdako }’aaigd

19.
A
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20. ¢35 QBT seogESTen (PAPs) &

mimes
20! iation Progra
The Poverty Alleviati JdéSorne 5@5501523(72;0”

(PAPs) are grouped into

(1) 5Sceen
(1) 5 categories ) A

. (2) 7 Soeen
2 7 categories . n
(3) 9 categories ) 9 ST

2L «8'Kp, Fser Sorred Veid SITE .0,
2029 Jrsie0 HOOBERS ©SEDY do
(intervention areas) (200X SOMPen

21. One of the key intervention areas to
realise the ‘Sunrise Andhra Pradesh
Vision 2029' strategy for health and

nutrition sectors is @ ;5uy§;5;.-5 6566-3 ;3;:)05

(1) Human Resource Planning (2) 323"'30535 aa@éSoﬁ

(2)  Financial Budgeting 3) 38R 3EE 0% _

(3)  Availability of Service Providers 4)  (SHS Swrorsosso 505:&0 |

(4)  Evaluate Progress 22. 08 7AS° Destsen 5O e3¢h 3ozoaac;=on

22. Which of the following pairs are correctly| A GOLCS H3s & c\)g - oS 33885
matched : 3*’;’)6 af{)qﬁaﬁs 3)32533095.“ |

A. Andhra Pradesh — Non-Pesticide Re 1Y
District Poverty Management ®a§) ”; B
Initiative Project B. 808, goReTes  — aoa.was A

B. Research Institute — Indian L e
for Health and Institute of 30 g w0l >
Family Welfarein  Health and TR0 IEE 38 S e
Andhra Pradesh Family ! Ao

Welfare Colilecy ; 5

C. Andhra Pradesh - Distribution C. w0o0@©df ., - «

Nutrition Mission ~  of Food “"’1"3@3$ :1>::5 Lo

D, Womemand @hild — Impact of
Welfare Départment Behavioural

Q - Patterns on

jé-éf-‘/ i FOOd
(1) Only A

(2) Oﬁly,'A:andB
~ (3 OnlyBand(C

A & 4 ABCandD
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2% Sorod
23. Choose the word which is least like the | 23 -@'Od 33;5‘583&-*5 _'52656 Ieygs

other words in the group. 42 ;5531_%); rbgovsq;}
(1) Knif
" o %8
(2) Pistol 'I 2
@ 5.

(3) ~ Rifle

@y

(4) Cannon

24. Study the information given below and|g.

answer-the question. -

‘A + B’ means ‘A is the daughter of B’ %‘g

‘A — B’ means ‘A is the husband of B
. D ..'l
‘A x B’ means ‘A is the bm}_?h%?_l;zofiﬁ’

Then what will P + Q?%ﬁe ?
e

(1) Risthemoth

T N

(2) R is the sister-in-law of P




: L{1i28) : R
WSEDP e
. with his head |25: o & GOCONEY, SR SISO

T Samia pectusting o8 BT e | SO RO Brgmo. ©8D Swopsos

down and legs up. His faoe s ft hand g8
west. In which direction Will P18 jo RS, DN éia’)“l‘ss i :Q)

be ? BosRrdou &, '

(LI ahe 0 (1) 5e5508 o
(2)  South (2) g0 .

(8) East ' (3) e'ﬁ)"d)“) o
(4)  North N @ e&ss0 ® -

B> B0,

: .  diagrams given|26. So¢ £ 3 W@ G
26. From the different Venn &, 5065 36 3@3‘:{,)_

below, which of the diagr aIms Tepresents EhAlay
the given statements correctly ? JoDE B

Statements <
Some of the cricket players are tennis
players. Some tennis players are Lhockey
players. But no cricket player is a hockey
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27. Select the correct answer from the giv
en

28.

29.

{(R1131)

options which would continue the Serieg

OO.D

-
@ |
i

(1)

(3)

(4) .

Find the least multiple of 23 which when
divided by 24, 21 and 18 leaves
remainders 13, 10 and 7 respectively.

(1) 3002

(2) 493
(3) 3013
(4) 504

If a number of two digits has 3 for its unit

digit and the sum of the digits is % of the
number itself. The number is
(1) 43
(2 53
(3) 63

27.

28.

29.

(4) 73

% ; Q
aop @SR T2 Saioe, By o
¢ VPR,

Joas 30530& i

(D
(2)

(3)

(4)

mifm|n|n|

23 o), SN 1DdESn Hosopg 24,
21, 18 ©F gFACYD ISP %y T
SE[e 13, 10, 7 ONS 3 ‘éogp;

(1) 3002

(2) 493

(3) 3013

(4) 504

2.5 Cotioso Sopg” ety s 3 TN
¢ @08 0S50 éoaase)és 15

SORBTD &) Ao & Hogy
@)% 4. o

(2) 53 ot

3) 63

4) 73 .
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30.

31.

2 . the ratio
A and B invest in a business i

oes to
of 3:2 1f 5% of the total p;;ﬁihge b
charity anq A’ share is ¥ 8

profit is
1) =1495
(2)
3)

(4)

T 1500
¥ 1600

T 1575

The difference between simple and

compound interests,
annually, on a certain sum of money for
2 years at 4% per annum is ¥ 1. The sum
in ¥ is

compounded

®
(2)
(3)
(4)

625
o e
640

(14)

30. A 580w B e e TFFEED $o 3 : 2
VHEE eperd L6, S5 orgrsndt
5% oS ¢53me Saihods. sHoak:
O e 855
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33. The National Common Mobility Carq W
as

launched on

@ 5% May, 2019

(2) 5th June, 2019

(3) 4th March, 2019

(4) 4th April, 2019

Recently the 30-year-long rule headed by
Omar-al-Bashir ended in the North-east

African State of

(1) Sudan

Suriname

(2)

Swaziland

(3)

Somalia

4

Minister Narendra Modi recently
India to

a call to the people of
practice yoga 111 thelr day-to-

the occaSmn of this event.

Prime

gave

day life on|

(15)

33.

35.

ohil m :
33590 0500 st .
@‘doé)o«ﬁaoéééﬁ _
1) 5 2019 |
. d
@ 5 S, 2019 iﬂ% \
27 )
019 | o
(3) 4570 2 {;
(4) 4 H%S, 2019 ﬁ%,j.
alse ST & & S8 20

M*aaﬁ SG806°

,,,,
<
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36.

37.

38.

- (4)

-3

'culture
The Present Vice Chairma? ot

Mission in Andhra Pradesh 1®

1) vy, Subba Reddy

(2)  M.V.S. Nagireddy

(NE Nageswara Reddy

A. Ramakrishna Reddy

The new pame of PUbﬁc -gnfevanc-es
webSite Meekosam, in A]’ld.hr a Pl'ade_Sh, 18
(1) Sahrudaya
(2)

(3)

Spoorti

6)

€]
B0

. oo s Sy .
5“3‘@5&«5
D 3.9 wem 3¢

(2) A0.9.J5. mﬁa(é

@) 2. e 88
® S omaRee . ot

Spandana

(4) Saadhana

Painkiller .

£V
4
»
Lag g
#

(1)

(2) Fire extinguisher

.

| e 0
Tetraethyl lead is used as a _ % e,

1)
(2)




WSEDP (17) o) P
10. Rotation of crops is useful to farmerg 40. a&)@gg Hoed: o) 6,)& i)fp“éo ad(ﬁyﬁg
because : ;)0653505 | :
(1) Tt decreases the nitrogen content of 1 a0 308 RGN So8oeSy, e
the soil : :
S50
2 = : ~ . = {
(2) It increases the nitrogen content of 8 3@66 p9) él_eﬁﬁag‘s 5083
the soil @ 3
| 200008 2 0
(3) It kills the harmful bacteria of the W
soil ® ap 3090 UGGy
(4) It increases the water content of the

soil

The vitamin that is essential for clotting
of blood.

(1) By
@ C 1
R |
B K \
@ B
Q"
'iﬁé‘

. This sem1conductor@€mory device stores

data permanent. y@.s long as power 18:

supplied.

"‘*“ 12 L

:1) Sta

tic memory device

g -

-

TGO
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- of the
43. The author of the book Fhsion;

44,

45.

Indian Natjona] Congress” 1

(1) Dr. B. Pattabhi Sitaramayya
(2)  Dr.KL. Rao

(3) Dr.BR. Ambedkar

(4)  Durgabai Deshmukh

The Government of India bestowed on him
the highest honour of the country, Bharat
Ratna in 1955. He is

(1) Pattabhi Sitaramayya
(2)  Neelam Sanjiva Reddy
(3) Mokshagundam Visweswaraya
(4)  Cattamanchi Ramalinga Reddy

Match the following correctly :

Chief Ministers Date of
Assumption

of office
A. D. Sanjivaiah 1. 10-12:1973

B. K. Brahmananda 1. 30-:09-1971
Reddy

C. P.V. Narasimha 1i. 29:02-1964
Rao

D. J. Vengala Rao v. 11-01-1960

@i Bii  Ciii Dy
(2)" Adv  Bdii Cii  p
(3 Adi Bi Civ pyj

(4) A-iii  B-ii Ca Diiv

(18)

43,

45,

€
9 3"" QS o RE
“o.)""’;gé ng) ) 30&05\35 o0 R
(History of the Indian National Congress)»
DE HSoes
(1) . ). SeTH ST T A0S
2) . 3.25. O°D)
3) o 9.6 @088,

P58 (SeoSe ©F0S S e
DO, G0 GRS 58) B8 1955 & (Seiso
SEleTa)

(1), Se7d mrorsoawy

@) oo HoLS 3G

3) . Jrgrvoco DFEsEads

4)  S&Sood orabdore 3G

808 TP O e3BBSSoS -

Sy aHoEDew 559 3;5%3‘5
_ S a)
A G Sofsas. i 10121973
B. 38 (2555085 3G il 30:09:1971
C. 2.2. 382058 i, 29-02:1964
)

D. &. oKy O iv. 11-01-1960

(D AR EE T
@ Adv B Yo ph
S L4

(3 Adi GRS D-iii

@ Al SR
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{4119

46. Choose the true statement regarding g |49.

47.

compound sentence.

(1) It has a subordinating conjunction.
(2) It has a subordinating clause.

(3) It has no main clause.

(4) It has no subordinating clause.

Teja is an earnest student.

In the above sentence, ‘earnest’ means
(1) furious and emotional

(2) serious and determined

(3) funny and critical

(4) zealous and crazy

The study of spiders is
(1) Arachnology

(2) Entomology

(3) Physiology

(4) Zoology

50.

Kiran 18 2 man of good understanding

knowledge and FEARORNNE bower becauge

N e = ———

Choose the expression that fits the jam,

meaningfuuy'
(1) an expert
(2) aliterate

(3) an intellectual

(4) asnob

Sindu has bright ideas.

Choose the meaning of ‘bright’ in the

above context.
(1) Welcoming
(2) Clever

(9 Full of light

(4) Shining strongly
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51.

52.

The intelligence possessed by

(20) 3|

PART B
the artists,

sculptors and designers is

(1)
(2)
(3)

(4)

Spatial intelligence
Language intelligence
Musical intelligence

Kinesthetic intelligence

These were set up for promoting Adult

Education especially among women

(D
(2)
(3)

4)

Kasturba Gandhi Balika Vidyalaya ‘
Mahila Sanghas : '

Saakshar Bharat Mission ‘\0 \ (3)

Do, 51V 0GB
1) >33 8
@ & &g
G
(4)
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54. Match the following :

55.

Learning theory Discoverer /
Introducer

A. Trial and error i. Edward Lee

learning - Thorndike

B. Classical ii. B.F. Skinner
conditioning

C. Operant i, Ivan P. Payloy
conditioning

D. Insight iv. Wolfgang
' learning Kohler

1) A-i B-ii C-iii  D-iv
(2) A-i B-iii C-ii  D-iv
(3) A-ii B-i C-iv  D-iii

) Adii Bi  Civ Dii o

The capacity to learn ué' adapt to the
reqmrements for suﬁ&a’i’ in one s culture
is called G

Memc

i*’_
C. sores W 3T 0.
92106550 >SS

T ST R O

.
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56. Consider the following statements :

57.

A TAT personality test is used to
assess the personality of men only.

(& personality test 18 used to
assess the personality of children of
ages 5 to 15.

C.

Minnesota Multiphasic Personality
Inventory (MMPI) is a non-projective

technique to assess personality.

The correct statement from the above is

@- @ only

(2) B only

3) A only

(4) A,BandC

The tendency to perceive that a line that

starts in one way as continuing in the

same way is called the Principle of

(1) Proximity
(2) Similarity
(3) Closure

(4) Continuation

(22)

56.

57.

808 Sssmross H0KEsS V8 VA : 5
A, TAT Sr9S8; S05H HOXNe
0TI IONERS
SRS SSAPATED

mgmwsﬁ)&

B.  CAT Sorg S0efs 95055 5 $0& 15

bobe‘ﬁgc"ez L0 ;’nsﬂg;’lawﬁé'\)cl

BOTT® I0NGTAS GHATATED.
C. R3Reers HP2DE 357570l
353088 (MMPI) 25 eS8
5B 3Sg oS B38E.
? BISTred” $OHI

(1) C S»S

(2) B ST

3) A ISP

(4) A, B0ax» C

&8 Srgod’ (@ ogRos A wd Srgod’ o

SITIH HHED @siiso SwES Sl |
JT° 90T !

(1) 5‘31):55@ Srgo fs

@) SHEBaRrEe

@) TS>Rommso

Ll
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58. Match the following With respect ¢

keyboard shortcuts :

Undo the last
action

A. CTRL+Q i

B. CTRL + B Copy the
elected text or
object '
€. GTRL + € iii. Remove
' paragraph
formating
D. CTRL +Z i%. Make letters
bold
(1) A4 B4ii C-i D-iv
(2). A-_n_l By G-l % Deiv
(8) A-ii B-iv C-i D4 :
— == e
(4) A-ii  B-ii

called

(23)

1 _@‘

BaTNGeE ée’isé w2k :soaom"ﬁéu%éo& 9

| i D88 ey
A. CTRL+Q } s - ‘35.(5_5&6 5
o omen B g
- Sobod ﬁ
c. CTRL+C
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60. A Website that lets anyone add, edit op

delete Pages of content 1S called
(1) Usenet
(2)  Online forum

(3) Wik

(4) Social network

61. cap stands for

(1) Computer-Action Data
(2) Computer-Available Data
(3)  Computer-Aided Design

(4)  Computer-Aided Drawing

62. Internet works on
(1) Message switching

(2)  Circuit switching

(3) Both packet switching and message

switching

(4)  Packet switching

63. This type of network places a hub in the

center on the network nodes.
(1) Bus

(2) Ring

(3) Star

(4) Mesh

(24,

¢ S o804 S8Aa . —C
80. 505065 R P A0 T <
VSBosrRd 8 Sohoumaa

61.

62,

BR0S0B0D &5 IS JTPWOLTD
(1) eSS (Usenet)

(2) «S58S 6D

3) 23 (Wiki)

@) FDS 55,

CAD 9550565 &880 |

(1) Computer-Action Data
(2) Computer-Available Data

(3) Computer-Aided Design
(4)  Computer-Aided Drawing

308:63¢5 8 Trgoe 9 Byod
1) S Jsoh () Ne)

A2) ﬁdjbgés ?QSDJOE (a)ey

@) B DeoR DB e
?x)SDJOﬁ So&se.

‘(4) 3"5@@.‘5 ?\)‘szboﬁ (a3\ex

83. 35 55, IS 35, & © S06556° o8

T eosoSsnd
(1) 28
(2) Boh
@) 5

4
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64. Match the following with réspect ¢,

database -

A. Attributes
B. Tuples

C. Relation

(1) Adii B4
(2) A-i B4
G S
@ gt

A

Which of the follomng statements are

correct 2o

C-iii

{125 )

i. Rows
~ii. Columns

iii. Tables

C-ii

C-ii

C-iii

iy
Mty

©
6., By S POPSEODL o e
83&“955150& i W:,‘
1 ‘ al
A ea@w"5¢53 550 *ﬁ;’ )
B. o) = :’m@ﬁmﬁg
C. 8890 R

(1)
(2)
(3)
(4)

v 3
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66.

67.

68.

iruses not
In Which of the following are Virt
Spread 9

L By Opening an e-mail attachmt‘ent

(2) Passing floppy disks from PC to PC

) By typing the text in MS Word
document

(4)

Booting 4 PC with an infected
bootable disk

Which of the following allows for the

transfer of blocks of data from memory to
an I/0 devjce or vice versa ?

(1)
(2)
(3)
(4)

Central Processing Unit

Processor

Direct Memory Access

Controller

Which of the following statements are
correct ?

A.  Compiler converts high-level
language to the assembly language.

B.  Assembler converts machine code to

assembly language.

C. Compiler converts assembly

language to high level language.

D. Assembler converts
language to machine code.

A and B
B and C

A, B,CandD
AandD

assembly

(1)
(2)
(3)
(4)

(26)

66,

67,

68.

[l

Eod Srserds TS B S0 @Cﬁ:: o

DOy

fEe

—

= : P00 BESEo
1) 3-dowd |

G‘SU‘

() FbBopos &8 Sorsabimbod
38 50rseab T Baho g
@) MS Word & 359) @5 SJaweo

39
60 AN rdwd A5 E PC Y
2re] (B0 59

(4)

GererS68 3oa0d $006 U0 SOETL
S.’Déci;n /O od dIvdE 289
SONEI8 30838 08 508508 ?
(1) oS (@rodoh ahrdes

(2) @258

@) E3F 1308 arsyd

(4) soeS’eb

808 Te36° DD 58 S Sres 2
A 50pod &% Fow grHm ©08)
ST SO0,
B. edoyb oo &5 ea?oo@ PARTAY
P08,
Soped  eod) grs S Faw
U SrH08.
D, eonb VO D Do
S&m Srtois08.

AS8awB

B S08aw ¢ .
A B,C%0at D

A®daoDp

(1)
(2)
(3)
(4)
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(27:)
69. This is the fastest type of memory 69.
(1) Cache memory
(2)  Main memory
(3)  Secondary memory
(4) Hard disk
70.

1.

@

To make the computer system run faster,

we need a faster

(1) Microprocessor and bigger screen

Microprocessor and bigger hard disk

(3) Graphics card and more memory

(4)

Microprocessor and more memory

What does the port number in a TCP

connection specify ?

@)t the communication

process on the two end systems

specifies

(2) It specifies the quality of the data

and connection

(3) It specifies the size of data

(4) It specifies the quality of the data

ks

@

5 K505V 353000 850

@ s PP
o 23O

ot 20300

(2)

)]

3)

@) =0 &Y
sogrssd  VBVSIMERSosy
PESRPO WO 2g 5
@580
PEERE PO 2 4k,
939080
ey =5 H0A® NI W3ws
ORistele
DESOE OO IS BInd

95080

(1)

(2)

(3)

TCP 535S So8® &§  Sogy OW
DR,
(1), 38 o NeNGs RIS

S350 D) AgE00

(2) 30 T HBa» IS Y,

g8 G808
(3) 38 Qe S0Lrer) BeoHBod

(4) 30 Ger Feossso Bewsychod
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72'

73.

74.

The Management of data flow between
fOMputers or devices or between nodes in
4 network js called

(1)

Flow control

(2) Data control

(@) Data management

4)  Flow management

Which of the following is not a level of
Programming Language ?
(1)

Low level -

(2) Medium level

i

v

(3) High level

4

(4)  Informal level ,

¥ ' 'w’
Which committee of CBSE has the
following functions 2

“Granting aiﬁliatipj_;atﬁ}‘iﬁéﬁtutibns; laying
down  qualifications  for teachers;

constituting mspeéhon panels.

i’ i)
ommittee

(28)

Affiliation and Curriculum |

©

7, Sorgeaty  Bor H0SCTO  Bogs  Sow

W56, Tho Doy Ger (B
ook, D0 RS LOLTEd

1) Soese daboEses
(2) Qe avogses
@) Qe Jogren

@ 2, 2558 P

B ‘-E’-:'
73. Cod @RS’ Peroof R z};o:o 5°08

!

| 0@ e o
(
<

(3) %&ﬁ @G‘;Q‘D

@) 36508 Fan
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75.

76.

1.

“Its chief aim is to promote Educationgq]
Technology especially mass media singly
or in combinations (multimedia Packages)
to extend educational opportunities ang
improve quality of educational procesges

at the school level.”

(1) AICTE
(2) CIET
(3) NCTE
(4) DIET

This article of Universal Declaration of
Human Rights states that “Everyone has
the right to life, liberty and security of

person”
(1) Article 6
(2) Article 4
(3) Article 5

(4)" Article 3

“A System of National Education (1907)”

was written by
(1) Mahatma Gandhi
(2) Sri Aurobindo

(83) Jawaharlal Nehru

(29)

75.

(4) Indira Gandhi

76.

71.

(v D00y 2

ompeee® TR g
- Q% (2

305770 5:(_)33& S PISAoe Rjumééxﬁ)

563605 AT et

oo

ST S50 S;o;mm 5 8
G

S00ES (%3 é"Séém)

oo BD S5 €% o

(1) AICTE

(2) CIET

(3) NCTE_

(4) DIET

S Irne OIS B
o560 “BIoHL, ), LES (358
05,0 %, @ BYIO [
(1) 65 Q8030
)
3)

(4)

43 98580
555 958830
355 Q800

‘D 0Po 8 IS ADESS (19077
BRUoDIE

(1)
2)
3)
4)

:1)335@"& mod
& ©8doesnts
B3OS ST

300T° 7o
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78. Which one is correctly matched ? B fon T8 sor  msISSwdsy

(D Right to Information Act — 2010 foBowods

(2)  Right to Education Act — 2007 D) ISrors T, P& — 2010

(3)  National Curriculum Framework —| (g

79.

(4)

Consider the following statements :

P

Which of the

2005

National Policy on Education —
1992

(3)

(4)

To monitor the academic progress of
the students.

To acquaint the students wi
prescribed curriculum.

abo

- the objectives of :

So5aho 25.@;:\59;-_ :

BEORO &g 1K
Fossos
- Javo.
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“If teachers adopt a caring and flexib]e
attitude towards students, they will alg,
imbibe such attitude towards each othey »

This is a way for developing

(1) Values in students
(2) Habits in students
(3) Interests in students
(4) Pride in students

Abraham Maslow, Carl Rogers, Rollo May

and Erich Fromm were

(1) Humanistic theorists

(2) Cognitive psychologists

(3) Behaviouristic psychologists

(4) Sociologists

The scheme All India Competition on
“Innovative Practices and Experiments in
for Schools and Teacher

Education Institutions was launched by

Education”

(1) CBSE

(2) NCERT
3) UGC

(4) CABE

(31)

80.

81.

- (2)

82.

“GERIN00 TR 5 (@ 0B
DETRS PO wSeody T ErE
AoV PO
@500 E.” DI CLARS 2080568
&8 Jrgo

2505 e9EP0LI

1) ITROS DedSed —
(2) TS voTey

(8) DTS’ IS
4) ored” wIesso

oo S, & &b, F& D
50000008 ESo-8d

A1) SFSST® TToBSgen

ROTTEE DHSIES TFIE
= X 7

(B SSGTTE HF g THIE

(4) >Sres T3S

SRS eiEmes $00aks 0N’
& @odo P FETOODH
$08050 &JFOH AT ROV SO0
o Fedo SESR) 0o $03

(RATeen”

(1) CBSE

(2) NCERT
UGC

CABE

(3)
(4)
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83. Thig iS not an ethical dimension of

-

. &(3) Telepathy

democratic education.

(1) Dignity of the Individual

(2) " Good citizenship

(8) ¥ Chpracter and intelligence to form
Judgements

4 Tsolation of . Individuall for
intrapersonal development

‘Establishment  of residential  upper

Primary schools for girls’ comes under

(1)  Dhanalakshmi Scheme

(2) Rashtriya Madhyamik Shiksha
Abhiyan |

(3) National Programme for Eduéation
of Girls at Elementary level

(4) Kasturba Balika Vidyalayas

is a méde where the teacher

and the pupil are connected with the help

of Satellite aﬁnd there are possibilities of

mteract;,gn & A?:h:ough communication

technﬁld@

1 A" ecommunication

(4) Educational Technology

(32)

83.

85.

©
o T (Perrgs Sy GB0%, I8k
&5, 890 SO
(1)
(2) ]
(3)/ 3.’)5%650 HOA™ r@ﬁ? eSO
DYosren B8 S0,

35§ A78S50
007 FPOIS50

(4) 53 o8 (intrapersonal) ©H3)8
§%30/55;89, 2020M SBBAHEO

Ty Eo PGSR BDEJaNS
FEToo DS’ &I 50208038
E308y Sess0 |

TR0 SreE BT ©DATS
29008 o PJ‘@S" g §°:6o
e &aH 3°65L§;i>o | e

(1)
(2)
(3)

(4) 5007y aa*é)s‘ 363"5@053‘@0 :
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86.

37.

t!"
B
e

to his child, is an ejﬁm’ple jqf' A

(33)

‘Respect  for human  rights

and
responsibilities’ is a

(1) Constitutional value
(2)  Civic value

(3) Religious value

(4)  Economic value

Conditioned response may be eliminated
by withdrawing reinforcement. This is

known as

(1) Extinction
(2) Discrimination )
(3) Spontaneous recovery |
(4) Stimulus generalization ej.;*_‘ ; I*
o i &
o
A man reflecting @ger from his boss

action formation

Q

86, ‘SrpSsS TEU e QPyS50% TS50 iy

38
1) ergt'soﬁ :)@_55 DOV
3
@) FEI® -
@) SHSDES D00D
3N

(4) g8 BERS I0 eﬂh

O

87. DGETdy [ B3y, e e

?Jmo@@ﬁyd?ﬁ@ Sofossio, 36
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_ . U5 %5357 50
89.  Which one of the following is a product in (89, o8 Tre38° 2563 ﬁé@é > iy 9
Guilforgs model ? (1) ST OESO ‘.-z\
(1) Evaluation (2) éoas.;éo " <% 4
(2)  Cognition g 4 3) 38558 oo c ®
@) Transformation - @) Sofmen 6
(4) Symbols 90. e358¢30f %5y DO &8,
& o
i 1) >536 ?
. 0 1 1 a/ ==
oftware %p. g
oo Habe §exm§ i
(2)  Hardware 2 J5§35 > 2
(3)  Combination of both hardware and 4) 30@553@05 '
software | 91. &8 ;)1932)4%550& : J
(4)  Interpreter ‘q" 1. @&Q‘@m@:ﬁ
WO
91.  Mach the following : ORJFT 50
A. Encryption i Software that : - SG §0‘3°®2\’D
detects unusual - y ¢ ”‘;’ Sare e
and suspicious paiiie
activities :

B. Firewalls ii. Computer G
soﬁwal:é“’“glaced
between the

conﬁdentlal
mformatmn _
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. Identify the correct e-mail format.

(1)
(2)
(3)
(4)

. Which of the following statements is not
correct ?

(1

(2)

3)

(4)

' massive amounts of input, output

* microcomputers.

(35)

username@domain name.com
domainname.com@username
domainname@username.com

username.com@domainname

Supercomputers  are  powerful

computers in terms of processing.

Mainframe computers handle

and storage.

Minicomputers are smaller than

micro computers.

Minicomputers are sma]]gr ‘than
mainframes  but larger than

& >

(1)
(2)
(3)
4)

(1)

(2)

€

92. 903 3-30008 FTLW Bexca

d omaillname - com@usem ame
domainname@usemamsfpm

usemame.com@domainnam,e_

93. (808 Q& HOS @51'5265303:‘60 fo0owod

& :ooﬁ .,"aéoﬁ" RT3 SOty
rggssoe‘s:bzi SoRTety.

owSy O  Sodrmwy b
Sndos® 35D, SHEHS Hoaw:
}‘005953 2)5‘39‘3‘0&3

@) ®E éoéysé.:d) 33§°§0:§)°§e06 "

" %083 355913

4) %y 50@5&@ 200335 )

5065 {'.)‘5‘_13 S"; Lgs S0l

o el
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95, A laSQr printer cre_ates an image by
~ Placing _ at specific points on the

Page,

(1)

Toner

(2)  Electric charges
Inkjet

Thinner

(3)
(4)

Which of the following will not affect the

Processing speed ?

(1) The size of the registers

(2)  The amount of RAM

(3)

Cache memory size

(4) Width of the monitor

(36)

|
!

95, 6238 Gooéos @3052, N 3&
By, PR, FOWOR IG GoBko “".‘s&
RV DY 0.

¢5%:58
:.);ﬁ:)ses wg
3053e5

w

(1)
(2)
(3)
(4)

osy SO0

"
() RAM3Bofo. wiiala

= yie

) gﬁ 3’3)0

ARy
ps |
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(37) @
{ Matcb .the following Domains anq|gg Bots &) @5 200aiw 3)53(53-3@& s
Descnptlons :
Tt HEB0C ¢
i i. Computer related p : . o
topics Aiec o0 VOO
90T
B. soc ii. Social issues and :
i wég P oey
politics B S50 G ‘0;&3&5\")
3 08 U"&éo:ﬁvm
- Comp iii. Science and 5
technology Cpcompigsill: :avgo:b =00y rosay
DETT°N)
=
(1) A-iii  B-jj -
el (1) Adii  Bii ¢ CH
(2) A-i B-ii 3 s
11 C-iii @ Ad B @i
3) A-i B-i 5
1 i C-ii @) Adiii B i
(4) A-i B-i 25
1 1 C-iii 4) AfPB-i Chn
Newsletters are commonly laid out in a|99. T°C° Spoo FroeNw @"0“&9555
fouma. &OWIET°ON.
(1) Sans serif
1) Sy DB
(2) Tabbed
(2) erS&
(3) Column
3) o
(4) Row (« )
(4) 353 (Row)
. Two’s complement of a binary number is
the
100. £:50 3085 B0, 2's STToHI0LS
(1) Complement of the number plus two
(1) SPoRR00eT est E
(2) Complement of the number plus zero ¥ BIEISCRS oo ¢
9 £
(3) Complement of the number plus one @ Sopdoel e & Soad :,25 £6
(4) Complement of the number plus nine (3) S"o?gﬁooéj &9 & Sowb le 39
(4) SP0RR0eT &5 & Somb 35 35
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1 : _
Ol Which of the following statements are

A. a variable instruction

RISC
length.
CISC is a fixed instruction length.

s

CISC has variable opcode length.

RISC has fixed opcode length.

(1) AandB

(2) AandcC
(3)

(4)

CandD

B and D

102. The full form of ROR in Shift and Rotaté

- instructions is

£ 4
iy L

| Gy

Q. j
(1) Rotate Right QU
(2) Right Rotate M\Q

(3) Rotate Reverse ;ﬁ

(4) Reverse Rotatiw

(38)

(N 2

A, RISC &8 @0 2SR5 D).

B. CISCet g% 35@55 ).

C csc eys eRb TED
&0e008. |

D. RISC % 36 & <% 50N
&0e008. bh

: ;L. \\ 4

(1) Amoo%%g;ﬁ

(2) A -"@w‘ o) 3

(3) X0 D ’

(43@:@6&» D

o

E@:};—R SoBas 5"@395}”}‘
L SrEEso '

W) &8s @5 &
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104. To be complete every statement must

have a subject and a/an

(D
(2)
(3)

(4)

105.

true with respect to communication ?

A

Which of the following statements are

- humans as well as organisations.

(39)

noun
verb
pPronoun

article.

Communication is fundamental to

the existence and survival of

.

It is a process of creatmg a.n‘xd‘

sharing of ideas, mformatlon? glews
ple, to
reach a common w i 1g.

facts, feelings, etc. amor

]
; _ D& OB (H
104, 50 UC SEESED BS5508 0
(1) Wm;ﬁijgo S
)
8 e
2) Gak . ,3'
(3) SBGTO
*‘I.
(4) g8 )

\
O

Y, .
105. g7 @?f'o"ﬁwoﬁ Bod BSSres
92 :aa;sb :

@@ HOC  Hogo &
Ef oo 22058 TS (SFE

38 @’cﬁé‘bé@aﬁﬁ
eﬁész‘.’aaiena’n 2)&053‘6@,,  TITOD,

T O 0K 5 1)
aaga;o;sggggg., 7E,;,:»efgg H0DE TR,
Sooxege SIS

A“__g
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106. Which of the following is not @ Medium
Accesg Control (MAC) protocol in wireless
netWOrks 2

(1) Slotteq ALOHA

(2) Polling

(3) CSMaA/cD

4) CcSMA/CA

107. Which of the following cables prov
B et bandvidths

(40)

106, o5 o8 2685 B350 WEARO
Q'ﬁ@ma oS’ (MAC) S5 S50

(1) >86 ALOHA

(2) 2k&oh
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108. During post Vedic period, which of thege
priests recited only the ‘Mantra of Soma

Yajana’ ?

(1) Hotri

(2) Udgata
(3) Adhvaryu

(4) Brahman

109. When did the National Council for

Teacher Education, as a statutory body

come into existence ?

(1) 26 January, 1995

2) 17th August, 1993 R N
: y fh}
(3) 17" August, 1995 ;S' i

4) 15 August, 199%; :

108.

<
3088 SED S oER)
St SODD PR & Eod o

D5 o
Q Fé o
@) TS 0’

3) ©6s%s

(@ e ‘\o

59060
&S

(1) 26e:550,1995 ,

(2)

(3)

(4)
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gl e 28 T8, 38 8
111, ‘Ontologicay foundation of education ig|111, ‘@0 DESGE ‘ <

relateq ¢, 5083650{'35‘5 i ox T
ShEL e B e ' (1) g2 Hrgoso o
@) Nt i e e ‘ (2) S0 0'30052, :3529‘35;113

@) Valueg (3) denIew

: (4)
(4) History of Knowledge

112, . primarly concerns itself with
Social relationships.
(1)- Philosophy
(2) Psychology
(3)  Group Counselling QT )

T ;
(4)  Sociology L ::V (4)

113. Deciding what n@ happen in the -
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(43) @

i HOTBS
114. The ancient concept of Purushartha|114. ‘@d)ﬁg By, VT LAMNIS ek,

represents a acheme of e S50 ST NI ?.3(53“% AR
comprehensiv i y
i, e categm.'les .of values. 200 638" DO FSISIpN D008

of the following is correctly ¢
matched ? 1) &% - Q% 0808 De0Sey
(1) Dharma - Economic values ) @g 81 e;sqs"!ge‘?&s‘ RISV o
(2) Arthg — Spiritual values 3) = - 355085 DS L
(3) Kama - Hedonistic values 385 :)eagéjv ‘

by

(4) Moksha - Moral-ethical values W &

., g.»

,JJ"

115. The Preconventional Level of Kohlberg’s (i‘i.)ogb_ Q‘)"“&; o@ﬁtﬁ"dﬁ) 3‘;033 ;’)01) %
Moral Development theory characterizes g & -

the age group : (1) w@gﬁoé%mm 6@ ‘

(1) 60 years and above : @ 10-16 26052'.’9'30‘@

(2) 10 - 16 years QG 10 K)o!:é’sac"oés@

(3) Below the age of 10 years _ ‘ @ 16- o rdbﬁe‘jac"m
R =

(4) 16 - 59 years

ETa

};

116. “agbc‘» a’no@s..t“.a:) a- e‘i‘ éaeméagow

:!{":1
Re)

116. “Here, the counsellar’s role is|

comparatively passx&eJ The counsellee
takes an acnv%pazzt in the process of the|
' techmque of counselling |

e T~k
N
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117. Which of the following are the chief
€Xponents of pragmatism ?
A,

B.
C.
D.
(1)
2)
(3)
(4)

Jean Piaget
William James
Schiller

John Dewey
Aand D

A, B and C

B, Cand D

A and C

118. Consider the syllogism :

Major premise - All men are mortal

Minor premise -~ Socrates is a man

Conclusion — Socrates is mortal

Who offered the above syllogism lnathre;
set up argument ? e 4—..’!" 2

(1) Socrates - L ¢

(2) Eratosthenes . ‘ 4

@) Aristotle

Ananmande!&

(44

€]

U7, ooy samord | ©@HorT BSlatit)

BODST >
A- o

&S Do E
DO B

B.
6.

D.
(1)
@)
3)
@

L}
.

.wgago@:‘)ocsé & :aegeSa 25 & >
30N - FEED SB3Co

D B ¥ avmé*
5G9 LoB0IFTH ?
(1) deess T

(@) aoves‘*g;ba
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(45) @

20. The i i -
1 e lﬂtelllgence requlred for Stlldents t(] ﬁm 5@3?(3)&& g"é 9
learn carpentry is o

WSEDP

120, DogBge” SE°
%

1) Hohd PF

@2 0% g

3) wboE TS OF

(1) Musical intelligence
(2) Spatial intelligence
(3) Bodily Kinesthetic intelligence

(4) Intrapersonal intelligence

@) B8RS BF

121. According to Stanley Hall, in human
growth and development, this stage is the|121, 375 Rletisal I5H0E’ & 5% e

‘pBI'iDd of eat st trai
strife’ S i 07D, SOTL a&ﬁcs*’eg @@Q@Q &5

(1) Early childhood 1) DroErosd

(2) Late childhood (2) GSTTOBE

(3) Adolescence (3)
(4) ;’3035"33:_665-55

TIrEE

(4) Adulthood

122. Consider the following statements : 122. 08 T $0KEasE’d BRF G :

A.  Ability indicates an individual’s A GO el S8 B8

present position. P08,

B. Achievement indicates an B. &5 e 03 ,S%Q)"ﬁ < 299
individual’s past position. 3, - E
OB

C. Aptitude indicates an individual’s - ;
1 C 35 G0 af S& s 3o

future position.

XrOR08. ~
Which of the these statements are MO0:
correct ? IS BBADHS BSSTen O 2
(1) A,BandC (1) A B308a» C :

(2) A So0aiy B &gy
(3) B0dawC SrsS
(4) CSodax Aéa‘@éﬁ)

(2) A and B only
(3) B andC only

(4) CandA only
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123. The act that Lakshmi still knows howtolags, 0§ SOKOSBYT LT 28S 5"52;"‘5:'2)*%

ride a hieyele even though she has not 5 66@@
ridden ons;:e; ten years. This best B2H aosnoéé JE 5

exemplifies which of the following type of 8985&;5"‘_\350 e 5@5 :6&393‘0 o

SReHory2 GET0%00
(D Procedural ' (1) dprsssms (@Rsd
(2)  Semantic (@) egseRs (R eéﬁ})z}"‘
(3) Episodic @) eg“n“é’s&é (Qa &8)
(4)  Iconic 4) "
124. Two statements are givenbelow:  |124, L§055 Bo&?@éa"w '355,5335"@3" b :

A.  FORTRAN is a compiled imperative| = A. FggrRAN L DHOEOS0 3“’
programming language.

B. JAVA is structural programming| - i'_B.
knowledge. \

Which of these statements are true ?

(1) Both A and B PN o N
= (1) A;SJBGI)JBBQ’&B‘
(2) Only A £ - A
Y 4% (2) Aﬁ!‘-’@ﬁ)‘ :
(3) OnlyB - A [l

R
(4) Neither A n@”

125. Which Df§ﬁlowmg is not portable ?
(D W@ﬁby b |
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126. Works spreadsheet is like a/an

(D

Easier-to-use version of Microsoft
Excel

(2) Giant electronic filing cabinet

(3)  Schedule management program

(4)  All-purpose contact manager

127. Individual items within a database are

called

(1) Records

(2) Files

(3) Attributes ey { "'a'}{,
(4) Columns ": %%

128. The addition of

126. 55& ‘3 L‘QQE 2)35 TR

1) DEFY IS oazngz, zsae:qfo

:"c‘iﬁeﬁgs

2 Bowodl JoFE PR =3

(3)

(4) SPOTS
WOTOL
Segore

s | e

@) DePHIDE
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e Identify the statement which is irue about
3 NOT gate,

130.

131.

Ko

(2)

(3)

(4)

Components of a CPU are

(1)
(@)
3)
@)

:l‘_l'
This memory enabl
application larger

(48)

If the input is true, then the output

18 also true.

If the input is true, then the output
is false.

If the input is false, then the output

is also false.

None

Logic unit, Control unit, Registers

i
Logic unit, Floppy disk, Registers

Registers, Keyboard, Pen drive
N l;j:_\v_\‘Q:-,
Logic unit, Control unit, ;%@gmrs,
7 i
Memory & 4
o

&Y
" of O

v
system to run an
the main memory.

€
129. NOT 7#e§5 & H0moBo0 D908 T
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132. Which of the following statements are

true when you compare the functions of
CPU and a microprocessor ?

(1) Functions of both are the same

(2)

Functions of both are not the same

The @PU
microprocessor

(3)

is faster than the

(4)

The microprocessor is faster than
the CPU

133. The . simplest method to represent

negative binary numbers is
(1) Signed magnitude only

(2

2’s complement

(3)

Signed magnitude and
2’s complement

1’s complement

]
182, CPU oo DE @R ang 5

JoBE Bad | o

(1) Bokr edor BV BE o

@ Botir egr 3 B0

@ cpU, DE @s?oi'?@gﬁsmw
PToloenlela) o @ | i

(1) PEFE =0 =8y o
&0 i |

LRy ¥is

‘ﬁ\'l"> :"L"
@) 5038 585re0 ST
| @ 2c% Soymol

(3) oSS ;55:;;»9951: oA 2 B,
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135, The . ofen computer mon.itOr is |185. 50@,5@5 ,;_’)J"E'QGJS 030352, 333‘3350 “6053556
classifieq by the number of pixels on the 05 SN 5850056 30 woury,

Screen d as a matrix.
% expressed a @05 6358.13",55‘5
Resolution o ;§)°5033°ﬁ SohS
(2) Viewing angle e
ot pitch -
pite (4) 3,.‘:?5 &36 ‘ :

(4) " Flat panel

iyl e B0 st e
: W @S5I0S Ao
- 136. The computer can move data and C'st =S
instructions between storage and memory
as needed, in a process which is called

; (1) Swapping
(2) Passing
(3) Volatility - R k)
(4) Pipelining L7

n reveals our interests.

reveals our [




WSEDP

138. This i
S 18 not a commandment of effectiy
e

139.

140.

(3)

(&1 )

Communication,

(1) Clarity in language

(2)

Poor listening

(3)

Adequate medium

(4)

Good communication skills

The main difference between synchronous

and asynchronous transmission is that

(1) Clocking is derived from the data in

synchronous transmission
(2) Pulse height is different
(3) Band width required is different

(4) Clocking is mixed with data in

asynchronous transmission

Examples of means of communication are

(1) Spoken or written  messages,
telephone, e-mail

(2) Visual, spatial, aural, gestured
Sender, message, receiver, channel

Fear, anger, sadness

(4)

138. CEDE’SCSG Dé 66?’)?_% o0 émgéoéz}ec‘é A

eEie 5°¢0

W) s e

@) soors pow I8G
(3) BASSTEO

@) $H0D BrODVETIX

139, HoE'R $0050 SROE D PS50

St3g PN B

1) $30h 530 HOE IO
5SS’ Ger H0G
S Betsod

(2) éf% D) @:‘6&0?‘1"’ &0eN00

@) =Sobs @b D& Tokoed
ST SoLNod

4) TADH @SR SFEoS &
TS ST

140. 575 EYOVR  &RBodES  STGIS

SOOI

(1) DypdS Bor @EroHtd Hrerdo
SOES, e-vonS

2) &y, @R, ST, FIFT
(3) SodT, Sod¥o, Ers, THO
@ o, S0, Jmto
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1431 «
1. “The Main objectives were to serve the

educa‘tl‘-“n&l institutions more effectively,
to be responsive to the educational needs
t those stugents whose parents were
€mployed in the Central Government and
ad frequently transferable jobs.” Which
of the following has the above mentioned

objectiveg 2

1) Uge SON&0B ?
(2) NCTE (1) UGC 4’\
(3) CBSE (2) NCTE &
(4) Ssa (3) CBSE};@
(4) SSA
A v 4 NZHa
142. Samagra Shiksha subsumes three 142, @;@ég,z.é, e 336)?15‘

schemes to improve school effectiveness.
Which one of the following is not among
these schemes ?

(1) Sarva Shiksha Abhiyan (SSA)

(2) Teacher Education (TE) Q.

(3) Rashtriya Madhyannk Sh]ksha
Abhiyan (RMSA) e

(4) Uchchatar Shi k% (USA)

141, ‘Dans @ogesﬁ Soboes :o:.ﬁog.ﬁoéon',

143. DeS5 @

[€]

5% woBosto, Z0E (BghEod:
e80Ty ooy SHEF @
Japie  eSgrer  SOAS es@ =
Q3o%), AT RO )
ES%yoBoBEo  ©ID S e
$od T3S D8 S A6

\ "-Zb@éo 393 ;‘Jcﬁs"oéa a:oas
Slofiiey @@05?5 (S_SA’:
€00l s (TE) i

g .;53'6;555)35 %an
(RMSA) |

261)
(2)
3)

4)




WSEDP

144. “On Education”

(1)
(2)
(3)
(4)

145. “Give a national direction to an objective
and

rational presentation and
Interpretation of history, to sponsor
historical research programmes and

projects and to assist institutions and
organizations
research.”

discussed here ?

(1)

(2)

(3)

(4)

146. ‘Client-Centemd therapy was published

by
(1)
(2)
(&)
(4)

(53)

(1990) was written by
Jiddu Krishnamurti

Sri Aurobindo
Rabindranath Tagore

Swami Vivekananda

engaged in historical

Which council is being

Indian Council of Philosophical
Research (ICPR)
Indian Council of Social Science
Research (ICSSR)
Indian Council of  Historical
Research (ICHR)

National Council of Rural Studies
(NCRI)

Abraham Maslow
John Dewey
Ca_rl Rogers

Jean Piaget

144, “esS Qc@aﬁéﬁ” (1990) SO8 SS5cs

1) 85 SRl

©2) & esdos

@) sdDoss wrird
(4) oo JIsTHOL

145, “3B(E5 G0Y), OF 0 SOV STEBES

OGS D56 EEaD 03D 335%o,

FOSE  DOTES  TUESred SOk

FEHoD (TR Saheso  Sodaw

HOROW R0 oo  TOSE

$o5EssS ISorF  Goko.” L

QWOTOR $50y0H oKD (509)

1) 308005 THS & PoTES
&28y (ICPR) |

@) 308aHS THS &5 VS
626y (ICSSR)

3) 0GOS TNHS & 0ES
626y (ICHR)

@ 3556 THS &b o gad

(NCRI)

146, 50205 -2005 BB BBBOFITE

1) eESo ST
Q) &P o
@) =8 &by
4) B DA
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147, Which i not a form of pragmatism ?
(1)
(2)
(3)
(4)

Humanistic
Experimental
Biological

Sociological

148. The term used for ‘the people of their own
age and similar social status’ is

(1) Sibling
(2)  Friend
3)
(4)

Classmate

Peer group

149. When was ‘Rashtriya Uchchatar Shlksha
Abhlyan (RUSA), a Centrally Sponsorad

| Scheme (CSS) launched ? L5
(1) 2005 @
(2) 1999 @
(3) 2010 *

(4) 2013 '

150. ‘Respect  fc

(54 )

| 147.

{I"
‘a‘w
149.

@
a ’%.ﬁ |
,g‘i' KIS A0 Kk

.'. ) 'n .
3553'565 {JGP‘CSQ BaoE), EIrH0 P8

1) Sr8580
2) EarrEso o

(3) &550208 o

(4) e '

FS3oeelE S020E _

TRab &SEE 85 edo 5
SoS PrATES 9650 (2.8
Qoacpéo @"605,)0.‘583&9& 9
(1) 2005 i

@ 1999 ,

L




